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4 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 7.30 93.06| #nhbLis 000 ~ 000| 167 8.78 ZHLS 1.00 500 ~ 961 93.06] hLlst | 500 ~ 961| 1.67 8.78

5 100kN/m%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z% = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 7.35 93.66] £hklst | 000 ~ 0.00| 1.66 8.71 ZHLS 1.00 500 ~ 981 93.66] Th Ll | 500 ~ 981| 1.66 8.71

6 100kN/mM#Z#B% % 1.00/0.00 ~ 0.29 104.31|3mZ#BRDH| - ~ = = -] 100kN/ %82 % 1.00 11.02 ~ 11.93 104.31|3m%H#BZ % o ~ = = =
Zh st 1.00/ 029 ~ 8.08 100.00| Zxlu4t | 000 ~ 8.08] 2.05 10.73 TS 1.00f 500 ~ 11.02 100.00| x4 | 500 ~ 11.93| 2.05 10.73

7 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 7.63 97.82| Zh s |0.00 ~ 7.63] 2.18 11.43 st 1.00] 500 ~ 10.15 97.82| #nList | 500 ~ 10.15] 2.18 11.43

8 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 7.67 98.34| Zn L4t |0.00 ~ 7.67| 2.10 11.01 Lot 1.00f 500 ~ 10.40 98.34| ZnList | 500 ~ 1040 2.10 11.01

9 100kN/mM#Z#B% % 1.00/0.00 ~ 0.49 107.29|3mZ#BZB| - ~ = = -| 100kN/MZ#B 2% 1.00( 11.48 ~ 13.25 107.29|3m%H#BZ % = ~ = = =
ZnLs 1.00{ 049 ~ 8.28 100.00f ZhList | 0.00 ~ 8.28] 2.00 10.49 st 1.00] 500 ~ 1148 100.00] Zh x4t | 5.00 ~ 13.25] 2.00 10.49

10 100kN/m#%#BZ % 1.00/0.00 ~ 045 106.73|3m%E{B % % a ~ = = -| 100kN/mM%E#Z% 1.00| 10.54 ~ 11.81 106.73|3m%E %% = ~ = = =
ZnLs 1.00] 045 ~ 8.24 100.00f Z1List | 000 ~ 8.24| 2.16 11.35 st 1.00f 500 ~ 10.54 100.00] Zh A4t | 5.00 ~ 11.81| 2.16 11.35

11 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiB A = ~ = = =
ZnLs 1.00{0.00 ~ 7.68 98.52| Zh L4t 1000 ~ 7.68] 2.19 11.47 st 1.00f 500 ~ 10.27 98.52| #n L4t | 5.00 ~ 1027 2.19 11.47

12 100kN/m#%#BZ % -l -~ = —-|3mEEZS -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS -~ = = =
ZnLs 1.00{0.00 ~ 6.88 87.13] #nlist |000 ~ 6.88] 1.75 9.18 st 1.00] 500 ~ 8.46 87.13] #nui4 | 500 ~ 846] 1.75 9.18

13 100kN/m%#BZ % -l -~ = —-|3mEEZSD -~ = = —| 100kN/mM%# x5 = -~ = —-|3m%EiBAS -~ = = =
ZnLs 1.00{0.00 ~ 6.82 86.27| #nlist | 000 ~ 6.82| 1.87 9.80 st 1.00f 500 ~ 859 86.27| ZnList | 500 ~ 859 1.87 9.80

14 100kN/m#%#BZ % -l -~ = —-|3mEEZS -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS -~ = = =
ZnLs 1.00{0.00 ~ 6.84 86.56] =t Lyt 000 ~ 6.84] 1.90 9.95 st 1.00f 500 ~ 8.78 86.56] znList | 500 ~ 8.78] 1.90 9.95

15 100kN/m#%#BZ % -l -~ = —-|3mEEZS -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS -~ = = =
ZnLs 1.00{0.00 ~ 7.03 89.20| #nList |0.00 ~ 0.00| 1.66 8.72 st 1.00f 500 ~ 9.02 89.20| #nList | 500 ~ 9.02| 1.66 8.72

16 100kN/m#%#BZ % -l -~ = —-|3mEEZD -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEBZD ol ~ - - -
ZnLs 1.00{0.00 ~ 7.70 98.71| Zh s |0.00 ~ 7.70] 2.06 10.83 ZznLst 1.00f 500 ~ 10.64 98.71| ZnList | 500 ~ 10.64| 2.06 10.83

17 100kN/m#%#BZ % -l -~ = —-|3mEEZD -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEBZD ol ~ - - -
ZnLs 1.00{0.00 ~ 6.94 87.98] #nList | 000 ~ 0.00| 1.58 8.26 ZznLst 1.00f 500 ~ 9.67 87.98| #nLis | 500 ~ 967 1.58 8.26
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